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PART 1. LISTENING

You will hear five short conversations. There is one question for each conversation. For each question,
choose the correct answer (A, B, or C).

Tai audio tai day

1. You will hear a girl talking to her mom about what to eat for dinner. What does she like to eat most of all?
A. salad

B. pizza

C. tomatoes

2. You will hear a doctor talking to Tom after a health check. What does Tom need to do more of?
A. exercise

B. eat carbohydrates

C.sleep

3. You will hear two friends talking in a restaurant. Why do they choose the seafood salad?

A. It’s healthy.

B. It’s tasty.

C. It looks good.

4. You will hear a girl asking a boy about his eating habits. Does he eat more carbs or protein?

A. carbs

B. protein

C. He eats the same of each.

5. You will hear two friends talking about ways to increase life expectancy. Which do they both enjoy?
A. lifting weights

B. running

C. doing yoga

Listen and choose True or False.

Tai audio tai day

6. Mai and Linh went shopping together.

7. Mai bought a headscarf.

8. Mai will wear the skirt at home.

9. Linh bought some boots.

10. Linh’s mother likes stylish clothes.

PART 2. READING
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Read a text about the greenhouse effect. Choose the correct answer to fill in the gap.
A greenhouse is built with glass walls and a glass roof. It is used to (11) plants, for example
tomatoes and tropical flowers. During daytime, the greenhouse is warmed up by the sunlight and remains
warm inside even after the sun sets because the glass walls of the greenhouse trap the Sun's heat.
Similarly, the greenhouse effect on Earth is a process that happens when the Sun's heat is trapped in the Earth's
atmosphere. Gases in the atmosphere, such as carbon dioxide, work just (12) the glass roof of a
greenhouse; thereby being called greenhouse gases. (13) , the Earth becomes a place which is
warm enough for humans and other species to live.
However, the Earth's natural greenhouse effect has been influenced by human activities such as burning coals
and oil. The amount of carbon dioxide and other greenhouse gases in our atmosphere has been on the (14)
. As a result, more heat is being trapped in the atmosphere, which causes the Earth to warm up.
Plants are very important to balance the greenhouse effect as they can take in carbon dioxide and give (15)
oxygen in the photosynthesis process.
(Adapted from https://climatekids.nasa.gov/greenhouse-effect/)
11.
A. grow
B. develop
C. raise
D. create
12.
A. alike
B. similarly
C.as
D. like
13.
A. Nevertheless
B. Instead
C. Furthermore
D. Consequently
14.
A. raise
B. increase
C.rise
D. growth
15.
A. out
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B. up

C.in

D. off

PART Il. RAEDING

Read the text about climate change below. Complete each of the sentences with NO MORE THAN
THREE WORDS from the text.

Preparing for the future is important for people in an era of rapidly changing environmental conditions. For
example, the government can prevent power disruptions when they know about a coming heatwave in
advance. Farmers in drought-prone areas can use watering systems more effectively if they know which crops
are likely to fail.

The Earth's climate changed dramatically due to human activity in the 20th century, and it will continue to do
so in the future. Decreasing greenhouse gas emissions might help mitigate the effects of the climate crisis.
However, with rising emissions, the impacts of climate change are expected to be even more severe in the 21st
century.

Climate change results from rising surface temperatures, also known as global warming. This is caused by the
greenhouse effect, a process in which Earth's atmosphere retains heat due to rising amounts of greenhouse
gases like carbon dioxide and methane. The year 2023 was the hottest year ever recorded, with temperatures
approximately 1.48 degrees Celsius higher than pre-industrial levels in the 19th century.

To what extent will the temperature rise? Climate Science Special Report, a US global change research
program, states that by the end of the 21st century, temperatures might rise by five degrees Celsius or more.
Sharp cuts in greenhouse gas emissions, however, may limit global warming to 2 degrees Celsius or less.

(Adapted from https://www.ibm.com/blog/climate-change-future/)

16. If farmers in drought-prone areas know which crops are most likely to fail, they may use more
efficiently.

17. In the 21st century, the impacts of climate change would be significantly more due to higher
emissions.

18. The mechanism by which Earth's atmosphere retains heat as a result of increased gas

concentrations is known as the "greenhouse effect.”

19. Temperatures in 2023 were about 1.48 degrees Celsius higher than in the 19th century.
20. Temperatures may increase Celsius or more by the end of the 21st century.

PART 3. WRITING

Reorder the words/ phrases to make a complete sentence.

21. if you value the economy / more than / holding your breath / the environment. / while counting your
money / Try

=>
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22. effects of / to reserve / to a greener lifestyle / global warming. / Let’s transition

=>

23. have been / implemented / to combat / Laws / in several countries / climate change.

=>

24. the environment. / to adopt / new behaviours / It’s time / to protect

=>

25. To combat / needs to / climate change, / the entire globe / band together.

=>

Choose the sentence which is closest in meaning to the given one.

26. In accordance with the idea of common but distinct duties, we must respond to the global warming
problem by making worldwide efforts.

A. According to the idea of common but different duties, we must be responsible for the global warming
problem worldwide.

B. To address the global warming issue, we need to coordinate globally in line with the principle of shared
but differentiated responsibility.

C. Itis our responsibility to give ideas on the efforts to tackle the common issue of global warming and
other worldwide problems.

D. As a response to global warming, we must make worldwide efforts without differentiated ideas of
common duties.

27. Living on our planet is made comfortable by the greenhouse effect. However, the number of greenhouse
gases is rising as a result of human activities.

A. However comfortable our living on the planet is made comfortable by the greenhouse effect, the number
of greenhouse gases is rising as a result of human activities.

B. The greenhouse effect makes living on Earth comfortable, but human activities make the number of
greenhouse gases increase.

C. Living on our planet comfortably, human beings make greenhouse gases and their effects increase in
number and severity.

D. Although the number of greenhouse gases is rising, the greenhouse effect makes human living on the
planet comfortable.

28. CO is released when coal, natural gas, oil, and wood are burned. CO retains heat in the atmosphere.
A. When CO: is released, coal, natural gas, oil, and wood are burned to keep heat in the atmosphere.

B. CO: retains in the atmosphere when people burn coal, natural gas, oil, and wood to release heat.

C. Released when coal, natural gas, oil, and wood are burned, CO, keeps heat in the atmosphere.

D. Heat is released when coal, natural gas, oil, and wood are burned and release CO: into the atmosphere.
29. When people cut down trees for wood or other purposes, they can release the carbon dioxide locked in

their trunks into the atmosphere.
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A. Cut down for wood or other purposes, trees can release the carbon dioxide locked in their trunks into the
atmosphere.

B. Cutting down for wood or other purposes, trees can release the carbon dioxide locked in their trunks into
the atmosphere.

C. Cut down the tree for wood or other purposes, people can release the carbon dioxide locked in their
trunks into the atmosphere.

D. Cutting down the tree for wood or other purposes, people can release the carbon dioxide locked in their
trunks into the atmosphere.

30. Taking little steps daily can contribute to our fight against global warming.

A. It is not a big deal for us to respond to global warming.

B. It takes us a lot of time to cope with global warming.

C. We can address global warming by taking immediate actions.

D. Our every day's small actions can help combat global warming.

PART 4. SPEAKING

Choose the word which has the underlined part pronounced differently.

3L

A. measure

B. health

C. weather

D. heatwave

32.

A. particular

B. harmless

C. participate

D. archery

Choose the word that differs from the other three in the position of primary stress.

33.

A. animal

B. atmosphere

C. energy

D. bacteria

34.

A. borrow

B. impact

C. affect

D. produce

Truy cap https://loigicihay.com/ dé xem Ii gidi SGK, SBT, VBT 1l 16p 1 - I18p 12 t&t cd cac mén




Loigiaihay.com

35.

A. adaptation

B. community

C. development

D. significance

Choose the appropriate response.

36. Peter and Lan are at the gym.

Peter: You seem new here. Let me show you how this works.

Lan:

A. That's very kind of you.

B. My pleasure.

C. That's right.

37. Peter and Mum are talking at home.

Peter: Mum, | need to use the laptop to do my homework. Can | use yours, please?

Mum:

A. It's so nice of you.

B. It's a pity.

C. Of course, you can.

38. Peter and Lan are learning PE in the gym together.
Peter: | know a very good exercise routine to keep fit.
Lan: Thank you very much.

A. Why don't we do it together?

B. Let me show you how to do it.

C. Can you tell me your routine?

39. Peter is taking a test in class.

Peter: Teacher, can | go out?

Teacher:

A. | strongly agree with you.

B. Well done!

C. I'm afraid you can't.

40. Lan is talking to her grandmother on the phone.

Lan: In the future, I can use a flying car to visit you whenever I want.
Grandmother:

A. I'm not really sure about that.
B. Can you fly a plane?

C. I really appreciate what you've done!
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